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Question Number : 1 Question Id : 5471143801 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

When operator | 1s operated on vector E, the new vector JE is displaced by

356 E bl  siiBb ad@rhodisn, €8 E 356 Fgodo Bothikod.
[A] =D 6 —— 0
Options:

90° clockwise

90° HsBE

1. %

90° counter clock wise

90° @308

2. %



180° Clockwise

180° ﬁa’aé &é
3. %

270° counter clock wise

270° e93da3508

Question Number : 2 Question Id : 5471143802 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two complex numbers are said to be conjugate if they differ i the algebraic sign of their

Both w03k Koy, Pl Paeol, 8 de KBS Sodding’ &
Options :

only in-phase component

a8 -F 0PI0¢5E* L@ S0

only quadrature component

sG55 SPoNFIoSE® HrEd &0t
2. ¢

both in-phase and quadrature component

. BR-9E b sYESE st BoTen ok
LR



neither in-phase, nor quadrature component

a5 -2 HHdasH 505@55 sroSfTotSod® 8%

Question Number : 3 Question Id : 5471143803 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What is the equivalent polar form of vector 3+j3?
38 3413 B PSS (G0 & Dend

Options :

Fd

L4l
Tl

6£45°

3V2./45°
3. %

6.3°

Question Number : 4 Question Id : 5471143804 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The vector J°E is equivalent to vector

3508 JE & 3505208 3506
2 Piiees [



Options :

j'E
1. %

it
2. %

jE
3. #®

JjE
4.

Question Number : 5 Question Id : 5471143805 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Time period of one cycle of a S0Hz sinusoidal quantity is sec.

50Hz Ripg¥onii§ s+o8h 6° 8 w)B @ns) seo 28D
Options :

0.1



Question Number : 6 Question Id : 5471143806 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
For which wave form both RMS and average values are equal?

Bod AE® O BBorfoH RMS 58050 D508 Devsden $&mwdo?

Options :
Sinusoidal wave form

E:;_Eﬁag@“sowcéé- SBoNo

1. %

Rectangular wave form

BESHLE SBoiso

Triangular wave form

(BeDhersed SBono

Cosine wave form

8528 88oro

Question Number : 7 Question Id : 5471143807 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Form factor of a sinusoidal ac voltage is

DogRfoniS ac $PE Gn¥) FHE6

Options :

0.707

Lis
2. ¢

1.414

1.441

Question Number : 8 Question Id : 5471143808 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Average value of a half wave rectified simusoidal alternating current is . (where I, is

the peak value of the current).

5 35 0836 PiogPoniid ac 3085 g 508 Deod_ . (I 06 $305
tib:ég, @éé&aé 2e0))

Options :

&)
m' &

T/ N2



Question Number : 9 Question Id : 5471143809 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The rms value of sinusoidal ac current i equal to its instantaneous value at an angle of
degrees.

2.8 j@@é@gwcﬁé ac 53085 @08, RMS Qensd o 20RS (Bfled’) S o £B8 DevisH
Do wyEoh?
Options :

60

L
—

90



Question Number : 10 Question Id : 5471143810 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Two sinusoidal currents are given by the equations ;;=10sin(wt+7/3) and L=15sin(ot-1/4).

The phase difference between them s degrees.

B0t DiRbantid Sotfen i=10sin(ot+13) 0ok i,=15sin(ot-m4)

o8 8 s 3% &,

Options :

105

Question Number : 11 Question Id : 5471143811 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following components loses its resistance with the rise in temperature?
a8 20ARPD, & Bobd TS T8 o $hdod?

Options :

1. %



Pure metals

Io56 Deod)

Alloys
&G0 Qo|Edmoen

2. %
Insulators
e5TRSeSPeD

3. ¢
All options

Eﬁﬁjé Eﬁq;}ﬂEbEFED

Question Number : 12 Question Id : 5471143812 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If three resistances of different values connected in series across the supply, which of the

following is correct?

et DB, 3 I deniiod® HORE K0 o8 F3 & €35 s, (Bod TS
@6 26?7
Options :

Voltage drop across each resistance is same.

58 A&°Fo GnE) T2 (BB Do

1. %



Current through each resistance is same.

(58 28550 home VY B80S Do
2. ¥

Power loss of each resistance is same

(58 8% GwE) HB6 B Sedo

Reactive power loss of each resistance is not same.

8 I8°Fo @o¥) BAIrES HB6 o Ko s,

Question Number : 13 Question Id : 5471143813 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A circuit whose properties changes with the direction of its operation is called

8 SEmS @) oferen, T GS0AS B0 of 08 A Kl sotrth,

Options :
Bilateral
anﬂgé

1. %

Unilateral
Ry o o
) wécﬂé



Linear

3o

Non-linear

@B

Question Number : 14 Question Id : 5471143814 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Voltages of two loops in a circuit are given by 4i; — 3i, = 1 and 3i; — 5i, = 2. What is

the value of i, ?

2.8 35S 69 Botd erde Gut Fogen 4i, — 3i, = 1560 3i, — 5i, =2
W ) 1~ 3l Ly

o8, i; Jeud Jos?

Options :

-11
1. =

-1/11
2.

-5/11

3. %

-5



Question Number : 15 Question Id : 5471143815 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

According to Kirchhoff's voltage law, the algebraic sum of all the IR drops and emfs m any

closed loop of a circuit is always .

Kirchhoff's 2 digroso (5o, ¥ §48 o6 i) IR (Her H0ath emfs o &)@

oo P8FO P doknod.

Options :
Positive
 FredS
1. %
Zero
”’ma&
2. %
Negative
20BS
3. %
-1
4, @

Question Number : 16 Question Id : 5471143816 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A resistive load will abstract maximum power from a network when the load resistance is
source resistance.
o8 05858 6% ) 9650, 0.8 5&5&5& T ) AWoH  eowd o 5&55’35@ 908
&% 5586 8%otnot
Options :

equal to the

RATPRD0
1.4

greater than the

a'éjé_é

2. #
less than the
e‘ﬁé:@ra‘ﬁ

3. #®

equal to 50% of
50% % Jd&rdo

Question Number : 17 Question Id : 5471143817 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

I[dentify the passive element among the following.

Bod TS FDE JODvotS A6?
Options :

1. %



Voltage source
S8 15
22

Current source

5805 8

Inductor

=loTai=1e)
3. ¢ £

Transistor

&G
4. %

Question Number : 18 Question Id : 5471143818 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Determine the total inductance of a paralle] combination of 100mH. 50mH and 10mH.

100mH, S0mH 8c%n 10mH dens) DAY et aoc‘ééﬁcj@a Narosdore SIRRIPD,

© &i0¥ Go¥) Iodo BolER,)
Options :

7.69mH
1. ¢

160mH



60mH

110mH

Question Number : 19 Question Id : 5471143819 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Superposition theorem is valid only for

JeHERRAS Hrpossin % SrE S8:R0d.
Options :

Linear circuits

Bhod H5mseS)
1.

Nomn-limear circuits

eBRE%H ‘ééﬁ&g&%

Linear and non-linear

Bh%H LB eBdch

Neither linear. nor non-linear

BhoHh B B Bokre S°%



Question Number : 20 Question Id : 5471143820 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A practical voltage source consists of an ideal voltage source in .

28 (P8ES S8 RO)D 28 wladd S°g RAG) e {rosi),
Options :

Series with an internal resistance

. 26D D& mowt)S THRYN)

Parallel with an internal resistance

Fbod & s0L8)S B?}%S&

Series with an internal resistance or Parallel with an mternal resistance

%85 28 =lelnle)la] 6?&%53 B FSed & =lelale)] B?\}_@%

No option

D=

Question Number : 21 Question Id : 5471143821 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following elements is unilateral?

Bod &AE® D& DEDHEFD?

Options:

Diode

ETrE
1.¢

Resistor

288550

Inductor
aoc‘iéﬁ

Capacitor

Eeb
4. %

Question Number : 22 Question Id : 5471143822 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two capacitances having 20F and SF capacitances are connected i series. Their equivalent

capacitance s

Botd 20F o SF Denid $9AS Saririoben HORE® SORSPLS, & wihBE @) BFNER)

QN

Options :

1.



4, &

Question Number : 23 Question Id : 5471143823 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In a series RL circuit as frequency increases

&8 RL 288 385 Bw) ssdgo 2038

Options:

Current decreases

E0085 &eéhod
1.9 0

Current increases

E00¢5 HH&od
2. #

Current remains unaltered

E00e5 XedEo



No Option
D=

Question Number : 24 Question Id : 5471143824 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In a parallel RC circuit, the supply current always the applied voltage.

2.8 ar6BE RC eyl & &3 80085, 3 g8 60008,

Options :

Lags

SR &°

Leads
o8 &

In phase with

so s &
3. %

No Option.
4. % ﬂﬁjs‘rﬂ‘@

Question Number : 25 Question Id : 5471143825 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
In a series RLC circuit on resonance, which of the following is correct?

28 B8R RLC 565 &8 edoarifo K58, & (Bobd & S6G056?
Options :

XLZXC

Vi=V¢

7Z=R and V=V&r

All options

a&nﬁ &) mﬁ)as'ﬁm
4, &

Question Number : 26 Question Id : 5471143826 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A series circuit consists of a coil of 70€) resistance and 2H inductance with a capacitance of
0.51F capacitance. The resonance frequencyis
8 05 iy’ 70Q A%, 2H w0tFR) 00k 0.5)F 33w 408,
0 ODTE %"eés@’.g)ééo_.

Options:

147Hz



2. ¥

171Hz
3. %

135Hz
4. %

Question Number : 27 Question Id : 5471143827 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

[f the capacitive reactance of a capacitor at S0Hz is 32€) then at 100Hz, it 1s

SOHz 55 28 33F06 Ging) 33085 6irEs) 320 oo 100Hz &8 e dokwob

Options :
78.5Q)
1. %
314€)
2. %
1/314Q
3. %
16Q2



Question Number : 28 Question Id : 5471143828 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Q-factor of a series RLC circuit 1s given by

a8 RLC 268 %6565 Gog) Q-2E6

Options :
L |1
R_1C
1. %
1 |1
L
2. %
1 |L
R _|C
3.¢¥
1 |R
C
4. %

Question Number : 29 Question Id : 5471143829 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The cut-in voltage of Si PN diode 1s about

ROSS PN E@rE Gwd) §65-a8 S°g8 Sodetore

Options :

0.6V

Question Number : 30 Question Id : 5471143830 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The capacitance of a varactor diode can be changed by its

28 050 GArE @¥) S8 Bod TIE° TS ErdySin?
Options :

Doping level

&520R 835

TE‘]H])E‘I'H re

PN
2. %



Forward bias

; éﬂé{g@ 2055
. B

Reverse bias

8386y adirh
4.v PR

Question Number : 31 Question Id : 5471143831 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
When a PN junction is forward biased,

2.8 PN 2058 786 adirRée® a)mpd o

Options:

Drift cuurent increases

BF EB0E BBorHd

1. %

Drift cuurent decreases

BF 880 Sy
2. %

Diffusion current mcreases

_— &‘5’@“5&5 8085 B



Diffusion current decreases

&‘{gjvéaﬁ 8065 SHD.

Question Number : 32 Question Id : 5471143832 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The leakage current across a PN junction is due to

PN 23058 oeioe 9828 88065 (8ob A8 B IoB $:06?
Options :

Majority mobile carriers

208 20BS SBHE)

1. %
Minority mobile carriers
2568 3085 =80E)
2. %
Majority and minority mobile carriers
6L HB0w PSS InBS SBIDHE)
3. %
Immobile charges
S3BS TTD
4. % %

Question Number : 33 Question Id : 5471143833 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Zener breakdown is due to

Epaeb BEES (Bod aeAS® B Sl Sobd?

Options :

Avalanche phenomenon

Serol HSP T

1. %

Tunneling phenomenon

&3)D0f 1T Doe
2.9

Avalanche and tunneling phenomenon

ederol DB YDA HF o

Burn out failure

2b) ©H& _“q:c:c-:aﬂ:rﬂ55

Question Number : 34 Question Id : 5471143834 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Diffusion current flows through PN junction just after its formation is due to

PN #0§S 3°0) wanis 8o B $0085 8, (8ob R6° B Siyod?
Options :

1. %



Majority carriers

%68 =8c0b)

Minority carriers

D08 28098

Forward bias
q:}rﬂiﬁ:jé 2G50

Reverse bias

855) TS

Question Number : 35 Question Id : 5471143835 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

o and P of a BIT are related by
e.8 BIT G o s00a» P o gk Somogio

Options :

_F+1
“TTp



‘le—a
B a
'B_l—l—ﬂf
3. #
I
B—1
4. %

Question Number : 36 Question Id : 5471143836 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In CE configuration, an emitter resistor is used for

CE s:)KBESE’, 2Dotob BHRT) 63@rAoSErdS Ko s6wmo

Options :

ac signal by pass

ac ﬁ:ﬁ&é BarR

1. %

collector bias

X856 adira
2. ® =

higher gain

BENS AonR
3. #



Stabilization

i ?gééﬂﬁeaa’m

Question Number : 37 Question Id : 5471143837 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The CB configuration is used to provide gain.
CB s7Q)50aS: RonS E°8% &O@rARE.
Options :
power
H56
1. %
resistance
BJRN)
2. % Q”
current
E00e5
3. %
voltage
SFSS
4.9 R

Question Number : 38 Question Id : 5471143838 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
The Q-point on a load line may be used to determine

28 ErR6 @) $°EBS 3 Q-rowod Te o EOPRDy,

Options :

Vs
1.4

Ve
2. %

Ic
3. %

Ve
4. %

Question Number : 39 Question Id : 5471143839 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The current gain for a common base configuration where [=4.2mA and Ic=4mA is .

28 P06 I=4.2mA H0ck Ie=4mA o8 ) (BSATAS G0 Aaws__

Options :



Question Number : 40 Question Id : 5471143840 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The CC circuit is used i the BJT for
a8 BIT ::Emé& 3 ﬁéﬁgfg&ﬁ 855 GHBrAT.

Options :

Switching

?a&:‘.’,)oﬁ

Impedance matching

BOWEY) WAoR

High voltage gain

©0hHE 55%55 Ron&

Amplification

DORPTHS



Question Number : 41 Question Id : 5471143841 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Number of depletion layers in a transistor are

QRO & soa ARRS Baby Doy .

Options :
|
1. %
2
2.
3
3. %
4
4. %

Question Number : 42 Question Id : 5471143842 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Common emitter current gain P is defined as

PSR 28ed 305 Ao P= :

Options :
Ig
Ic
1. %



Question Number : 43 Question Id : 5471143843 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In a CE circuit, the BIT has

BIT & CE $8mye5 &° 08008,

Options :

Low current gain and voltage gain

& EBokw Aona iAW 5‘5§£ RO

1. %

High current gain and voltage gain

. b8 801 RoNS HHOA sﬁgé ARONS

Low current gain and high voltage gain
S EB0en Nowd SHOAD whE 55§£ Aone



High current gain and low voltage gain

©§E EBotn RonS Kb $EnS S°EE RawS
4. %

Question Number : 44 Question Id : 5471143844 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In BJT, leakage current Icgo flows through

BIT &° 3£ 58065 Icro oTe ([HSSE008.
Options :

The emitter and base terminals

Aerb bk D BOYRSS)

The collector and emitter terminals

5858 Jbcm dned E’J&‘Eﬁ%
& ©

The collector and base terminals

$855 Hockn B BYRSSD)
3.¢

The emitter. base and collector terminals

QB B Lobakn EBEE BYYSS)



Question Number : 45 Question Id : 5471143845 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The leakage current Iceo is equal to Icso when
HSE EB0E5 Icpo 06050 Iepo e JIPH Do wHEeon?

Options :

o=0.1

o=0

Question Number : 46 Question Id : 5471143846 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The dimensionless h-parameters are

Bob QS* BHSKS 82 h-oedoerdsy

Options :

hi; and h»»

hi; &8¢0 hao



h>; and ho»

ho1 0865 hoo

hi1 and hi»

hi1 58c%0 hio

h> and hyy

hi2 08¢ hoi
4.

Question Number : 47 Question Id : 5471143847 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

AFETisa

FET &36
Options :

Current controlled device

g30¢5 éo@‘i‘sg )

Voltage controlled device
FES SolS B
2 Ca A



Resistance controlled device

3R Bol&*S &3

€3

Impedance controlled device

SODER) B0l &K
4. %

Question Number : 48 Question Id : 5471143848 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Compared to BJT. a FET has higher
BIT & 8079 FET & DEN.

Options :

Voltage gain

ﬁ@a‘f RoN&
1. %
Current gain
g00¢5 Rowm
2. %
Input impedance
BRI BOVBRY
3.¢



Output impedance

©H5HE B0DER)

Question Number : 49 Question Id : 5471143849 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The ripple factor of a half wave rectifier is

D B8 B§Hans @Bw) 60S LS

Options :

0.482
1. %

0.812
2. %

1.21
3.v

1.11
4. %

Question Number : 50 Question Id : 5471143850 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In an LED, light emission occurs because

LED Hoth sc0é t%cgéo ROV NOH.



Options :

Light gets reflected due to lens action

BR) AEN S0 o8 (HéDoo

1. %
Light falling on the diode gets amplified
8¢5 $°00h 6 B E@rE R soyDE
2. %
Diode gets heated up
EQrE 38 8o S0
3. %
Recombination of charge carriers takes place
85r0dINR ©§ o°§ SBAHE) Hod
4. =

Question Number : 51 Question Id : 5471143851 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following devices exhibits negative resistance

Bod &° D6 awes IB°BEo (558)%906?

Options :
BIT
1. =
ulT

2. &



FET

MOSFET

Question Number : 52 Question Id : 5471143852 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following technique 1s used for biasing the enhancement type MOSFET?

8o #0E° B ANerHiP0lS B5 MOSEET adied 6% 45@RAFS?
Options:

Voltage divider bias

S5°8E &3EE 20ireR

1. %

Current source bias

80085 Gy oD

Collector feedback bias

& =
- é@§5 qJ‘Eﬂjbég DGR

Self bias
?050) 203To%



Question Number : 53 Question Id : 5471143853 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
(1010.011)2=¢( )10

Options :

10.375
1.¢

10.275
2. #

10.175
3. #®

10.075
4, %

Question Number : 54 Question Id : 5471143854 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

(408.5)10 =( )8

Options :



640.3

640.4

Question Number : 55 Question Id : 5471143855 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
(0.6875)10=( )2

Options :

1011.0
1. %

0.1011
2. ¥

0.1001
3. #®

0.1101
4, %

Question Number : 56 Question Id : 5471143856 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



10°s complement 0f 456710 =

456710G0%) 107s P00

Options :

7654

N
e
Lad
4

4657

Question Number : 57 Question Id : 5471143857 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Determine the value of base x if (211)x = (152)sg

(211)x = (152)s 008 X Dend Jos?
Options :

5



11

Question Number : 58 Question Id : 5471143858 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
1359710 =( )BCD
Options :

00010010010110010111
1. %

11111110110011110000
2. %

01111001010100110001
3. #

00010011010110010111
4. &

Question Number : 59 Question Id : 5471143859 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Write the excess-3 code of decimal number 8620.

BToBLrS Sogy 8620 Gny) excess-3 58

Options :

1011100101010011
1.4

1001011000100000

1011011001010000

1000100100100011

Question Number : 60 Question Id : 5471143860 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Write the Gray code of 1100.
1100 &w¥), @ &°&

Options :
1010
1.4
1000
2. %



1100

0011

Question Number : 61 Question Id : 5471143861 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

By which principle. x = (y = z) = (x = y) = 2?

&) &rlgo 15080 x * (Y *z) = (x * ) * Z ©@H&Hob?
Options :

Commutative law

s%:o;éﬁ&ﬁ e
1. %
Associative law
OVHGBS e
2.
Distributive law
&@8)3‘35&5 e
3. %

Inverse law

aRsb) er

4, %



Question Number : 62 Question Id : 5471143862 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Simplify the Boolean function, x + x'y.

X+ x'y 0 ardHS $oES H JeEBo Vahol.

Options:

xX+y
1.4

Xy

Xy

x'+y

Question Number : 63 Question Id : 5471143863 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What is the Minterm corresponding to Maxterm Ms?
335{3&.35& Ms & Ho208089 &5@5&

Options:

XYZ



Question Number : 64 Question Id : 5471143864 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Express the function F = A + B'C. in SOP representation.

F=A+B'C % SOP &r508° 31508,

Options :

F(A,B,C) = 3(1,4,5,6,7)

1.4

F(A;B.C) = 2(4,5,6,7)
2. ®

F(A,B,C)= 2(1,45,6,)
3. %

F(A,B,C) = 3(1,2,4,5,6,7)



Question Number : 65 Question Id : 5471143865 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following 1s the output of the logic gate shown?

S oBh 1T TwE), ©HSEHE

X
¥y e
Options :
X+t y
1. %
X
2. % Y
X Py
3. %

Question Number : 66 Question Id : 5471143866 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Write the function represented by the following K-map?

Bob K-HS &° sl Haabo

yz' |vzZ |yz |yZ

Options :

f(x,y,2) = 212,3,4,5)

1.4

f(x,y,z) = 3(1,3,4,6)
2. %

f(x,y,2) = 3(2,3,4,6)
3. %

f(x,y,2) = 3(1,3,4,5)
4. %

Question Number : 67 Question Id : 5471143867 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Simplify the function represented by the following K-map?

8o K-S &° Srdadd ([Hbasrd) 388580 Sahod.

yZ' |¥Z |¥Z |y
X |0 |0 |1 |1
x |1 |1 [0 |0




Options :

xz + xy'

b e o o 4

x'y + zy'

x'y +xy'

Question Number : 68 Question Id : 5471143868 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Simplify the function represented by the followmg K-map? Where ¢ represents don’t care.

B8 Kb &° srisns (@batrd) 568580 ahod. ¢ @36 £7586 % irdipod

V7' |yZ |yZ |yZ
wx'lo |1 (1 |0
wx |0 ¢ (1 |0
wx (0 |0 |1 |0
wx' (0 |0 |1 |0

Options :

F=yz+w'x
1. %



F=yz' +wx

2. %

F=y'z+wx
3. %

F=yz+wZz
4. %

Question Number : 69 Question Id : 5471143869 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following is a half adder logic circuit?
Bod RS D& P DEE @f JLRS D SrAdob?

Options :

O )
;) O

:



|~

All options

STl XN BwWSTeD
g T ENEER)

Question Number : 70 Question Id : 5471143870 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following represents the carry of a full adder?

Bod AE° DB HS K8 BwE) 86 J WedRos?
Options :

xy'+yz' +x'z

1. %

> 5 s 1 . s
2.

xy'+yz' +xz
3. %

x+yz' +x'z



Question Number : 71 Question Id : 5471143871 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following represents the borrow of half subtractor?

Bod IS DB FP JHErgse® 6" o Jrdlos?
Options :

Xy

Question Number : 72 Question Id : 5471143872 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

No. of full adders required to build a 4-bit paralle] binary adder are . carry from

previous digit present)

o8 4= 3686 HiibH S0t FoHedB e HE b Sogg

(ot 008 Hod 2 $i0d)

Options:



L4d

Question Number : 73 Question Id : 5471143873 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
No of terminal available for 8x1 multiplexer.

8x1 Q50 © Ko SRS Sogy

Options:

g
1. %

11
2. ®

12
3. ¢

17
4, %

Question Number : 74 Question Id : 5471143874 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
No of inputs available for 1x8 demultiplexer.

1x8 80§55 dwd) aSHde Sory

Options:

8
1. %

3
2. %

1
3. ¢

12
4. %

Question Number : 75 Question Id : 5471143875 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If A and B are one digit binary numbers, which of the following is gives output 1, if A>B?

A $ato B e Both 8 8265 B0 Sogg@8 A>B & deddod Fdbabo

Options :
A'B’
1. %
A'B



Question Number : 76 Question Id : 5471143876 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

How many 4-bit binary adders are required to perform addition of two 4-bit BCD numbers?

Botd 4-8¢ BCD Soadd Sevhtod AR 4-06 il 2t50) 9560 eyzan?

Options :

1
1. %

2
2.

3
3. %

4
4. %

Question Number : 77 Question Id : 5471143877 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



For 32x8 ROM, How many outputs are there?

32x8 ROM &° Q) ©99¢59eSen Gotron?

Options:
1. % 3

2
2. %

32
3. %

8
4.+

Question Number : 78 Question Id : 5471143878 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
For 64x8 ROM. How many inputs are there?
64x8 ROM &° Q) al:¢5en dotrom.

Options :

6
1.¢

8
2. %

32



64

Question Number : 79 Question Id : 5471143879 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following represents programmable array logic (PAL)symbol?

Bod Q8% PAL doad 567

Options :
n ¥k
fuses
——O——0—
Cr Or—
] ¥k
inputs tuses
1. % '
]
Ag— il
2ud
dezoder 10
.-4|—
1
1}
2. %
] :)
| H
3.



f inpuis

M.y

ROM

l

I antputs

Question Number : 80 Question Id : 5471143880 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following is a volatile memory?

Bod 06° o8BS DINE 0&?

Options :

ROM

RAM

EPROM

EEPROM

Question Number : 81 Question Id : 5471143881 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
PLA stand for
PLA e08&

Options :

Programmable Array Logic

(DEresoad o erss

Programmable Logic Array

(DB er2E o

2. &

Programmable Ladder Array
(DBresoad 856 o

Programmable Line Array

BFrrsoas 88 «F

Question Number : 82 Question Id : 5471143882 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
[f both the mputs of IK flip-flop are applied with 1, when the output of a JK flip-flop 1s 1,

then the output of JK changes to

IK 98- @958 1 m ad3pt Botb a8980 1 3 33, ol @Bl _

iaalela)



Options :

|
1. %
0
2.9
previous state
0OLH E’g@
3. %
No Option
RFAISIPY)
4. %

Question Number : 83 Question Id : 5471143883 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which of the following model of digital circuits, outputs are functions of present state as

well as inputs?

b G O Irti6 6 wHEYE, [ B DO BTHE WS TFYiLo%08?

Options:
Mealy model
Dd IeES
1.4



Moore model

o8 IS

Karnaugh model

STNP PGS
3. %
No Option
DdseY
4, %

Question Number : 84 Question Id : 5471143884 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Following table is excitation table of Flip-flop.

Bobd HEY, D 3O-FD ¥ FPTRS JGED “reARob.

Q) [ Q+1) [ X1 [ X2
0 0 b | X
0

0 | 1
| 0 0 1
| | X 0
Options :
T
1. %



SR

JK

Question Number : 85 Question Id : 5471143885 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
How many T flip-flops are required to design a mod-8 counter?

mod-8 ot:b &8F DHerds soHeds T R5-3rhe Hogy
Options :

2

)

Question Number : 86 Question Id : 5471143886 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
How many flip-flops are required to design a register to store one nibble of data?

o8 dad wrép doy Gotkrd8 @RS 6856 GBS Jdbimd8 sieis §B-3rbo Kogy

Options:

2
1. =

3
2. %

4
3. %

5
4, %

Question Number : 87 Question Id : 5471143887 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Voltage applied between the two mput terminals of the op-amp., to make the output zero

when no mput 1s applied is called

op-amp & DD BRI B, @ o) Doherds
SuR Doth BO) Sty $GaD _ eotrth,

Options :



Input bias current

55585 acirh 580¢5

1. %
Input bias voltage
asDE adird S8
2. % ©
Input offset current
, B89 ehHeS 8085
4
Input offset voltage
2959 eHes SFES
4.9 ®

Question Number : 88 Question Id : 5471143888 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The ratio of differential voltage gam to the common mode voltage gain of an op-amp is

called

2% op-amp @) &0NAHE Rowd By S:bd IeE Hows © i WYEY _ wotrd

Options :
Slew rate

K BeS

1. =

2. ¥



CMRR

SVRR

LSVG

Question Number : 89 Question Id : 5471143889 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Voltage gam, input resistance and output resistance characteristics of Ideal op-amp are

respectively.

0Gadd op-amp Gg) ﬁ@a’? o, 30969 502ER) X0k ©HTHEY sodEJ

S60 ot

Options :

Infinite. mnfinite and zero

©5080, ®J0S0 DO DT
1.4

Infinite. zero and mfinite

©X0S0, T OB BJ0B0

Zero. mfinite and mfinite

. "'@a&, 900850 0B wHoso
.



Zero. zero and infinite

07, ) B eoso
4. %

Question Number : 90 Question Id : 5471143890 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What 1s the phase angle difference between input and output voltages of mverting
amplifier?

8 RHG0R wodPond Gwd) aSHE DB eI dify RS o g0
Options :

{)C-

90

[

180

270°

Question Number : 91 Question Id : 5471143891 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following amplifiers is popularly used in Instrumentation?

Bod RS, sE)RolsS 58 sd@rh0Y soPPond
Options :

Inverting amplifier

anSgon eoHond

1. %

Non-inverting amplifier

TR~ aRSgoh sohHond

Differential amplifier

&éﬁ@lﬁaﬁ eoHoNd
3.v

Common mode amplifier

sPs0R JrE eoddond

Question Number : 92 Question Id : 5471143892 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following are important characteristics of comparators?

806 TAE° Ko:BeB)% BIBHE Swagid oFmre

Options :

Speed of operation

?oﬁ 899 SIBAS
1. %



Accuracy

DB

Accuracy. speed of operation and Compatibility of output.

DELBD, E @ SSITRS HHOED BoDeDOE ©f ©HeTHE
3.¢

Accuracy and speed of operation only

BB HoBAD MNE 6P SBORS Hoelgad
4. %

Question Number : 93 Question Id : 5471143893 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

When an op-amp is working as voltage follower, its voltage gain is

op-amp Eoi0eme ST P, TR FGE Bows
Options :

Infinite

90850

Unity

zw&é@



Zero

DT

Negative value.

20060 aJED®

Question Number : 94 Question Id : 5471143894 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Schmitt trigger with op-amp is basically

op-amp & 2¢5 BKE &8

Options :

A pulse generator
) B$oeb

Comparator with negative feedback

Zos005 98 INBS H&EersE

Comparator with positive feedback

0866 98 FBBS SEamE
3.¢

An amplifier

a8 wodond
4. %



Question Number : 95 Question Id : 5471143895 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

How many types of multi-vibrators are there?

5 FE0E) Y Bseen?

Options :

2
1. %

3
2. ¥

4
3. %

5
4. %

Question Number : 96 Question Id : 5471143896 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What 1s the time period of 555 timer operating as monostable multivibrator?

555 BB IS yend HPJEREM SITRHIHEH TV D BHE

Options :

0.33RC



Question Number : 97 Question Id : 5471143897 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Smallest change in the input signal that can be detected by an mstrument is called

28 9ol Bot KON ) WS Ens) o8 OF) s eotrd

Options :
Resolution

- 6&@:@;15
Precision
B

2. #
Sensitivity
2NBIE

3. #®
Accuracy

" @é};éi"a



Question Number : 98 Question Id : 5471143898 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A 5-bit ladder has a digital mput of 11010. Assuming that 00000 corresponds to 0V and

L1111 corresponds to +10V. its output voltage will be

A0S 55965 00000 & 0V S H0ckn 11111& +10V mid e, a8 5-865 846

% 11010 &abd a396 m ad)iiptd T 0HHE $8S
Options:

8.125V
1.4

8.4375V

1.5625V

1.875V

Question Number : 99 Question Id : 5471143899 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Resolution of an 8 bit digital to analog converter will be

8-8¢5 &2ty o wderh éé&éﬁ Goog), 6&@?5&5



Options :

1/8
1. %
1/63
2. %
1/127
. ®
1/255
4, &

Question Number : 100 Question Id : 5471143900 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the resolution of a digital to analog converter is approximately 0.4% of its full-scale

range. then it is converter.

o8 b2bd & eleh &880 @Y Buomidd o &p8 S0d6° 0.4% sond eb S8

Options :

a 16 bit converter
2.8 16-8¢& ééﬁgﬁ

1. %

a 12 bit converter

2.8 12-8¢5 ééﬁgﬁ
2. ®



a 10 bit converter

2.8 10-8¢5 8586
3. % "S”

a & bit converter

28 8-0¢5 K585
4.



